

$$H = \sum_{i=1}^N \left(\frac{p_i^2}{2m} - \frac{Ze^2}{r_i} \right) + \sum_{\substack{ij \\ i > j}} \frac{e^2}{|\vec{r}_i - \vec{r}_j|}$$

$$H \Psi(1, \dots, N) = E \Psi(1, \dots, N)$$

✓ 1) $\Psi(1, \dots, N) = \varphi_1(1) \varphi_2(2) \dots \varphi_N(N)$ تقريب Hartree ✓
 $i = (\vec{x}_i, \vec{\sigma}_i)$
 2) $= \frac{1}{\sqrt{N!}} \det \begin{pmatrix} \varphi_1(1) & \dots & \varphi_1(N) \\ \vdots & & \vdots \\ \varphi_N(1) & \dots & \varphi_N(N) \end{pmatrix}$ تقريب Hartree-Fock

تقريب هارتر:
 $\int d^3x_i |\varphi_i(\vec{x}_i)|^2 = 1$ $\varphi_i(i) = \varphi_i(\vec{x}_i) \chi_i(m_{s_i})$

$$\langle \tilde{H} \rangle = \langle H \rangle - \sum_{i=1}^N \epsilon_i \left(\int d^3x_i |\varphi_i(\vec{x}_i)|^2 - 1 \right)$$

$$\Psi(1, \dots, N) = \varphi_1(1) \dots \varphi_N(N)$$

$$\langle H \rangle = \langle \Psi(1, \dots, N) | H | \Psi(1, \dots, N) \rangle$$

$$\langle \tilde{H} \rangle = \sum_{i=1}^N \int d^3x_i \varphi_i^*(\vec{x}_i) \left(-\frac{\hbar^2}{2m} \nabla_i^2 - \frac{Ze^2}{r_i} \right) \varphi_i(\vec{x}_i) + \frac{1}{2} \sum_{i \neq j} \int d^3x_i d^3x_j \varphi_i^*(\vec{x}_i) \varphi_j^*(\vec{x}_j) \frac{e^2}{|\vec{r}_i - \vec{r}_j|} \varphi_i(\vec{x}_i) \varphi_j(\vec{x}_j) - \sum_{i=1}^N \epsilon_i \int d^3x_i (|\varphi_i(\vec{x}_i)|^2 - 1)$$

$$\frac{\delta G[\varphi_i(\vec{x}_i)]}{\delta \varphi_j(\vec{x}_j)} = \lim_{\lambda \rightarrow 0} \frac{G[\varphi_i(\vec{x}_i) + \lambda \delta_{ij} \delta(\vec{x}_i - \vec{x}_j)] - G[\varphi_i(\vec{x}_i)]}{\lambda}$$

$$\frac{\delta \varphi_i^*(\vec{x}_i)}{\delta \varphi_j^*(\vec{x}_j)} = \delta_{ij} \delta(\vec{x}_i - \vec{x}_j)$$

$$\frac{d f(x)}{d x} = \lim_{\lambda \rightarrow 0} \frac{f(x+\lambda) - f(x)}{\lambda}$$

$$\frac{\delta \langle \tilde{H} \rangle}{\delta \varphi_k^*(\vec{x}_k)} = 0$$

$$\sum_{i=1}^N \int d^3x_i \delta_{ik} \delta(\vec{x}_i - \vec{x}_k) \left(-\frac{\hbar^2}{2m} \nabla_i^2 - \frac{Ze^2}{r_i} \right) \varphi_i(\vec{x}_i) = \left(-\frac{\hbar^2}{2m} \nabla_k^2 - \frac{Ze^2}{r_k} \right) \varphi_k(\vec{x}_k)$$

$$\begin{aligned} \frac{\delta}{\delta \varphi_k^*(\vec{x}_k)} \frac{1}{2} \sum_{\substack{ij \\ i \neq j}} \int d^3x_i d^3x_j \varphi_i^*(\vec{x}_i) \varphi_j^*(\vec{x}_j) \frac{e^2}{|\vec{r}_i - \vec{r}_j|} \varphi_i(\vec{x}_i) \varphi_j(\vec{x}_j) \\ = \frac{1}{2} \sum_{\substack{ij \\ i \neq j}} \int d^3x_i d^3x_j \delta_{ik} \delta(\vec{x}_i - \vec{x}_k) \varphi_j^*(\vec{x}_j) \frac{e^2}{|\vec{r}_i - \vec{r}_j|} \varphi_i(\vec{x}_i) \varphi_j(\vec{x}_j) \\ + \frac{1}{2} \sum_{\substack{ij \\ i \neq j}} \int d^3x_i d^3x_j \varphi_i^*(\vec{x}_i) \delta_{jk} \delta(\vec{x}_j - \vec{x}_k) \frac{e^2}{|\vec{r}_i - \vec{r}_j|} \varphi_i(\vec{x}_i) \varphi_j(\vec{x}_j) \\ = \left(\sum_i \int d^3x_i \varphi_i^*(\vec{x}_i) \frac{e^2}{|\vec{r}_i - \vec{r}_k|} \varphi_i(\vec{x}_i) \right) \varphi_k(\vec{x}_k) \end{aligned}$$

$$\frac{\delta}{\delta \varphi_k^*(\vec{x}_k)} \sum_i \epsilon_i \left(\int d^3x_i \varphi_i^*(\vec{x}_i) \varphi_i(\vec{x}_i) - 1 \right) = \sum_i \epsilon_i \int d^3x_i \delta_{ik} \delta(\vec{x}_k - \vec{x}_i) \varphi_i(\vec{x}_i) = \epsilon_k \varphi_k(\vec{x}_k)$$

$$\frac{\delta \langle \hat{H} \rangle}{\delta \varphi_k^*(\vec{x}_k)} = 0$$

$$r_k = |\vec{x}_k|$$

$$\left(\frac{-\hbar^2}{2m} \nabla_k^2 - \frac{Ze^2}{r_k} - \epsilon_k + V_k(\vec{x}_k) \right) \varphi_k(\vec{x}_k) = 0$$

$$V_k(\vec{x}_k) = \sum_i \int d^3x_i \varphi_i^*(\vec{x}_i) \frac{e^2}{|\vec{r}_i - \vec{r}_k|} \varphi_i(\vec{x}_i) \quad \checkmark$$

$$\left(\frac{-\hbar^2}{2m} \nabla_k^2 - \frac{Ze^2}{r_k} + V_k(\vec{x}_k) \right) \varphi_k(\vec{x}_k) = \epsilon_k \varphi_k(\vec{x}_k)$$

$$\Psi(1, \dots, N) = \varphi_1(\vec{x}_1) \dots \varphi_N(\vec{x}_N) \quad \text{انتخاب اوله}$$

لغور (نوش) شردنگر:

$$i\hbar \frac{\partial}{\partial t} |\Psi, t\rangle = H |\Psi, t\rangle$$

مگره، از H ثابت زمان نادر

$$\int_{t_0=0}^t \frac{\partial |\Psi, t\rangle}{|\Psi, t\rangle} = -\frac{i}{\hbar} \int_0^t H dt'$$

$$\langle \vec{x} | \Psi, t \rangle = \Psi(\vec{x}, t)$$

$$\ln \frac{|\Psi, t\rangle}{|\Psi, 0\rangle} = -\frac{i}{\hbar} H t \rightarrow$$

$$|\Psi, t\rangle = e^{-\frac{i}{\hbar} H t} |\Psi, 0\rangle$$

$$|\Psi, t\rangle = e^{-\frac{i}{\hbar} H (t-t_0)} |\Psi, t_0\rangle$$

$$U(t) \equiv e^{-\frac{i}{\hbar} \hat{H} t} \quad \text{معمول زمان}$$

$$U U^\dagger = 1$$

$$U(t) = \sum_n \frac{1}{n!} (-i\hat{H}t)^n$$

$$U^\dagger = U^{-1}$$

$$U^{-1} = e^{+\frac{i}{\hbar} H t}$$

$$|\Psi, t\rangle = U(t) |\Psi, 0\rangle$$

غیرالته زمان

$$\langle \hat{A}_s \rangle = \langle \Psi, t | \hat{A}_s | \Psi, t \rangle_s =$$

$$= \langle \Psi, 0 | \underbrace{U^\dagger(t) \hat{A}_s U(t)}_{\hat{A}_H(t)} | \Psi, 0 \rangle_H$$

$$|\Psi \rangle_H = |\Psi, 0 \rangle_s$$

$$= \langle \Psi | \hat{A}_H(t) | \Psi \rangle_H$$

تواریف اشیا لغور هاربرگ

$$\frac{d}{dt} A_H(t) = \frac{i}{\hbar} [\hat{H}_s, \hat{A}_H(t)] + \left(\frac{\partial A_H(t)}{\partial t} \right)_H$$

ارت

$$\frac{d}{dt} \hat{A}_H(t) = \frac{d}{dt} U^\dagger(t) A_s U(t) = \frac{d}{dt} \left(e^{\frac{i}{\hbar} H_s t} A_s e^{-\frac{i}{\hbar} H_s t} \right)$$

$$= \frac{i}{\hbar} H_s \underbrace{U^\dagger(t) A_s U(t)}_{A_H(t)} + \underbrace{\left(\frac{-i}{\hbar} U^\dagger(t) A_s H_s U(t) \right)}_{\frac{A_H(t) H_s}{H_s}} + \underbrace{\left(\frac{i}{\hbar} U^\dagger(t) H_s A_s U(t) \right)}_{\frac{H_s A_H(t)}{H_s}}$$

$$H_H(t) - U^\dagger(t) H_s U(t) = e^{\frac{i H_s t}{\hbar}} H_s e^{-\frac{i H_s t}{\hbar}} - H_s$$

$$H_H(t) = U^\dagger(t) H_S U(t) = e^{\frac{iH_0 t}{\hbar}} H_S e^{-\frac{iH_0 t}{\hbar}} = H_S$$

$$= \frac{i}{\hbar} (H_S A_H(t) - A_H(t) H_S) = \frac{i}{\hbar} [H_S, A_H(t)]$$

$$\frac{d}{dt} A_H(t) = \frac{i}{\hbar} [H_H(t), A_H(t)]$$

- $|\psi, 0\rangle_S = |\psi\rangle_H$
 $|\psi\rangle_H = U^\dagger(t) |\psi, t\rangle$
 $\frac{d}{dt} |\psi\rangle_H = 0$
 $|\psi, t\rangle = U(t) |\psi, 0\rangle$

$\checkmark |\psi, t\rangle_I = e^{iH_0 t/\hbar} |\psi, t\rangle_S$
ارسی
لقوم ریختن

$O_I(t) = e^{iH_0 t/\hbar} O_S e^{-iH_0 t/\hbar}$
H = H_0 + V(t)

$\checkmark i\hbar \frac{\partial}{\partial t} |\psi, t\rangle_I = V(t) |\psi, t\rangle_I \leftarrow$

$$\frac{d}{dt} O_I(t) = \frac{i}{\hbar} [H_0, O_I(t)]$$

- $i\hbar \frac{\partial}{\partial t} |\psi, t\rangle_S = \hat{H} |\psi, t\rangle_S$
 $\int_0^t \frac{\partial |\psi, t\rangle_S}{|\psi, t\rangle_S} = -\frac{i}{\hbar} \int_0^t \hat{H}(t') dt'$
 $\ln \frac{|\psi, t\rangle_S}{|\psi, 0\rangle_S} = -\frac{i}{\hbar} H_0 t - \frac{i}{\hbar} \int_0^t V(t') dt'$
 $|\psi, t\rangle_S = e^{-\frac{i}{\hbar} H_0 t} e^{-\frac{i}{\hbar} \int_0^t V(t') dt'} |\psi, 0\rangle_S$
 $\rightarrow |\psi, t\rangle_S = e^{-\frac{i}{\hbar} H_0 t} e^{-\frac{i}{\hbar} \int_0^t V(t') dt'} |\psi, 0\rangle_S$
0 = [H_0, V(t)]

$\checkmark |\psi, t\rangle_I \equiv e^{+\frac{i}{\hbar} H_0 t} |\psi, t\rangle_S = e^{-\frac{i}{\hbar} \int_0^t V(t') dt'} |\psi, 0\rangle_S$

$$i\hbar \frac{d}{dt} |\psi, t\rangle_I = i\hbar \frac{i}{\hbar} H_0 e^{\frac{i}{\hbar} H_0 t} |\psi, t\rangle_S + e^{\frac{i}{\hbar} H_0 t} i\hbar \frac{d}{dt} |\psi, t\rangle_S$$

$$= -H_0 |\psi, t\rangle_I + e^{iH_0 t/\hbar} \underbrace{H}_{H_0 + V(t)} |\psi, t\rangle_S$$

$$= \{-H_0 + (H_0 + V(t))\} |\psi, t\rangle_I$$

$i\hbar \frac{d}{dt} |\psi, t\rangle_I = V(t) |\psi, t\rangle_I$